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(7' tensand [ one= b/ ' | Sixty-one
TS
é tens and /. ones = (}., Sixty-two
—
L  tens and 3 ones = ,:;'; . | Sixty-three
(} . tens and L) ones = (J z<, Sixty-four
C}" tens and 5 ones = C)"E Sixty-five
J i tens and :7 ones = C)" Sixty-six
a; tens and g ones = & g Sixty-seven
’é - tens and a ones = &(,() Sixty-eight
1‘9 tens and q ones = dC? Sixty-nine
2 0 tens and IO ones = [ 00 |Seventy

Numbers from 71 to 80
There are 10 balls in 1 box. Let us find the total number of balls.
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7 tens and | 0ne=7)‘

Seventy-one

—7 tensand l Ones—/)l

7 tens and 3 Ones—/\g

S-ev.enty-t:hree
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g}gg 6066 /} tens and ones = ;‘?j‘g S" ‘e ‘}
g:gg "..“‘0 -/ tens and 5 ones = 75 . | Seventy-five j!
ggg *oooaoo 7/ tensand s ONes = ;f é | Seventy-six
’Ef’-} .‘...“ /; tens and "] ones -.Mf / Seventy-seven
gjgg&ccaooooa -7 tens and ’.«;’ ones = 7/? Seventy-eight
’;gg'”““.““ 7 tens and C} ones = "/'«;f] Seventy-nine
[ggg@ ® % tens and O ones = O Eighty

Numbers from 81 to 20
There are 10 apples in 1 box. Let us find the total number of apples.
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LIO ones = 1 ten ]

Object Number Number Name
| % tensand | one= 8 l Eighty-one
9 tens and 2 ones = g 2__ Eighty-two
9 tens and 3 ones = 8‘% Eighty-three
9 tens and L!_]l ones = Q ) f Eighty-four
g tens and 5 ones = g I |Eighty-five
@ tens and ’4 ones = t ,,» Eighty-six
% tens and 7 ones = Eighty-seven
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